VENALIPEEY  1AS/0AS DAILY QUIZ NO. 696 (05.07.2021)

VENLNEY Exclusive Coaching for UPSC/OPSC/PSC

1-The proposal for farming of the Constitution of India by an elected Constituent Assembly was made
by

(a)Simon Commissions

(b)Government of India Act. 1935

(c)Cripps Mission

(d)British cabinet Delegation

2-The Preamble is useful in constitutional interpretation because it

(a)uses value loaded words

(b)contains the real objective and philosophy of the constitution makers

(c)is a source of power and limitation

(d)gives and exhaustive list of basic features of the Constitution

3- Consider the following statements?

1.Simon Commission recommended the abolition of dyarchy, extension of responsible government in
the provinces.

2.Communal Award not only continued separate electorates for the Muslims, Sikhs, Indian Christians,
Anglo-Indians and Europeans but also extended it to the depressed classes (Scheduled Castes).
Which of the above statements is/are correct option form the following :

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 Nor 2

4- In India, the concept of Secularism connotes:

1.Religion and state must be strictly separated.

2.Freedom of religion of both individuals and communities.

Select the correct answer using the code given below.

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

5- Which of the following could come under ‘reasonable restrictions’ provided by the constitution on
exercise of Freedom of Speech and expression (Article 19(2))?

1.Leaking classified material by an Intelligence officer.

2.Giving speech to take up arms.

3.Speech which can hamper stability of government in Lok Sabha.

4.Contempt of Court.

Select the correct answer using code given below:

(a)1, 2 and 4 only

(b)1 and 3 only

(c)2,3 and 4 only

(d)1,2,3and 4

6- With reference to Article 20 of the Constitution of India, consider the following statements:
1.Both civil and criminal laws cannot be applied retrospectively.

2.The protection against self-incrimination extends to both criminal and civil proceedings.
Which of the statements given above is/are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

7- The provision of the sixth schedule shall not apply in which one of the following states?
(a)Meghalaya

(b)Tripura
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(c)Mizoram

(d)Goa

8- Under which article the Parliament of India may constitute Administrative Tribunal?
(a)323 A

(b)323B

(c)324

(d)325

9- The Government of India Act, 1935 provided for the establishment of
1. An All-India Federation

2. Dyarchy in the provinces

3. Reserve Bank of India

Select the correct answer using the code given below.

(a)1 only

(b)1 and 3 only

(c)2 and 3 only

(d)1,2and 3

10- Consider the following statements regarding imposition of Martial Law:
1.Article 34 has defined the expression martial law in Constitution.

2.1t affects both Fundamental rights and centre-state relations.

3.1t suspends the government and ordinary law courts.

Which of the statements given above is/are correct?

(a)1 and 2 only

(b)2 and 3 only

(c)3 only

(d)1,2and3

11- The Forex reserves of RBI include which among the following?

1. Gold

2. Foreign Currency reserves

3. SDRs

Select the correct answer using the codes given below:

(a) 1 only

(b)'1 and 2 only

(e)2and 3 only

(d)1,2and 3

12- Consider the following statements related to Generic Medicines in India:
1. The Generic Medicines are the nonpatented drugs which are sold under the chemical composition
name.

2. The Pradhan Mantri Bharatiya Jan Aushadi Pariyojana (PMBJP) is implemented by National
Pharmaceutical Pricing Authority (NPPA)

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

13- With regards to Cess, consider the following statements:

1. It is levied on the tax payable and not on the taxable income

2. It cannot be levied on indirect form of taxes

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
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(d) Neither 1 nor 2

14- Which of the following would cause the aggregate demand curve to shift to the right?
(a) an increase in purchases by the federal government

(b) an increase in real interest rates

(c) an appreciation of the American dollar

(d) a decrease in the money supply

15- Which of the following statements is true about supply-side economics?

(a) The main change made by the tax laws of 1981 and 1986 was to increase marginal tax rates in
order to balance the budget

(b) The Laffer Curve says that, if marginal tax rates fall, tax revenues will rise, and the budget
deficit will decrease

(c) If the tax laws of 1981 and 1986 had had their intended effect,consumption would have risen,
causing an increase in both real GDP and in the price level

(d) All of these

16- With respect to Helicopter money, which of the statements is/are correct?

1. New currency notes are printed and distributed to all citizens.

2. Citizens have to pay very less interest rate on such money.

Select to correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

17-Which among the following are the likely impacts of Crowding out effect?

1. Increase in Fiscal deficit.

2. Decrease in the rate of interest

3. Increase in private sector investment

Select the correct answer using the codes given below.

(a) 1 only

(b) 1and 2 only

(c) 2 and 3 only

(d)1,2and3

18- Who recommends the MSP and issue prices?

(a) Ministry of agriculture

(b) Planning commission

(c) Commission for Agricultural Costs and Prices

(d) NABARD

19- Inter-creditor agreement (ICA) was framed based on recommendations of:

(a) Sashakt Committee

(b) Rangarajan Committee

(c) Gadgil Committee

(d) Ratan Watal Committee

20- Which among the following statements about National Gas Grid is/are correct?
1. Petroleum and natural gas regulatory board is the authorizing agency.

2. India aims to increase the share of gas in energy mix to 25% by 2025.

Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

21-Which of the following are included in the UNESCO List of Intangible Cultural Heritage of
Humanity?
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1. Jallikattu

2. Kumbh mela

3. Traditional vedic chanting

4. Kalbelia song and dance

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c)1and 3 only

(d)2,3and 4

22-Consider the following statements about Project RE-HAB:

1. It has been launched to mitigate the elephant attacks in human habitations.

2. It is a sub-mission of the National Honey Mission.

3. The project will be implemented by the Khadi and Village Industries Commission (KVIC).
Which of the statements given above is/are correct?

(a) 1and 2 only

(b) 2 only

(c) 1and 3 only

(d)1,2and 3

23-Consider the following statements:

1. The Consumer Price Index (CPI) is released by the National Statistical Office (NSO).
2. The CPI for Industrial Workers (IW) is compiled by the Labour Bureau in the Ministry of Labour and
Employment.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

24-Consider the following statements regarding the Classical dances of India:

1. Kathakali and Mohiniattam of Kerala are included in the eight classical dances of India.
2. Kalladikodan shailee is a major dance style of Mohiniyattam.

3. Guru.Chemancheri Kunhiraman Nair was a prominent Bharatnatyam dancer.
Which of the statements given above is/are correct?

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

25-With reference to the Appropriation Bill, consider the following statements:

1. It enables the government to withdraw funds from the Consolidated Fund of India.
2. It is mandatory for the Government to accept the recommendations of the Rajya Sabha on the
Appropriation Bill.

Which of the statements given above is/are not correct?

(a) 1 only

(b) 2 only

(c)Both1and 2

(d) Neither 1 nor 2
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